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Cau 1-10: Sentence completion: Choose A, B, C or D to complete each sentence.
1. Teenagers should be cautious when chatting with people they don’t know well on

social media.

A. whose B. who C. where D. which

2. Some rare birds this remote island.

A. reside B. dwell C. inhabit D. settle

3. Employers wear protective clothing during their shifts.

A. should have B. need C. would have D. have to

4. working hours can help strike a good work-life balance.

A. Adaptable B. Variable C. Flexible D. Fluctuating

5. A few people writing letters to sending text messages now.

A. still prefer B. have still preferred C. will still prefer D. are still preferring
6. Some of her colleagues find her - she never stops complaining.

A. exhausted B. exhaustion C. exhausting D. exhaustive

7. If Joey of the change, he wouldnt be present at the office now.

A. were informed B. informed C. had informed D. had been informed
8. The smartwatch can be by voice and touch.

A. stimulated B. activated C. sparked D. initiated

9. We will have our fence soon. It collapsed after the storm last night.

A. rebuilt B. rebuilding C. rebuild D. to rebuild

10. Teenagers seem to that their parents will always be around.

A. turn a blind eye B. take it for granted

C. beat around the bush D. take with a grain of salt

Cau 11-12: Synonyms: Choose A, B, C or D that has the CLOSEST meaning to the underlined
word/phrase in each question.

11. They acquired all the land needed for the road construction project.
A. collected B. earned C. obtained D. grabbed



12. The talk aimed to foster diplomatic relations between the two countries.

A. establish B. restore C. promote D. enrich

Cau 13-14: Antonyms: Choose A, B, C or D that has the OPPOSITE meaning to the
underlined word/phrase in each question.

13. Many folk songs are written about the lives of ordinary people in the past.

A. social media influencers B. known criminals

C. high-ranking individuals D. members of the public

14. Through these seminars, teenagers have a chance to give voice to problems they care about.
A. become aware of B. prevent the spread of

C. keep silent about D. deny the fact about

Céau 15-18: Dialogue completion: Choose A, B, C or D to complete each dialogue.

15. Susan: Im sorry for stepping on your foot.

Mark:
A. Youre welcome. B. Its my pleasure.
C. Never mind. D. No, thanks.

16. Minh: I failed the driving test.

Long:
A. No worries! B. Better luck next time!
C. The test was bad, wasnt it? D. Drunk-driving is dangerous.

17. Alex: Ive got a new project proposal for us to review. Can you decide by today?

Jordan:

A. Could I sleep on it and let you know tomorrow?
B. Could I take a break from it and let you know tomorrow?
C. Let me give it some thought and I will accept your proposal.

D. Il take time to mull it over after giving my feedback.

18. Phillips: Would you mind if I used your car tonight?

Ann:
A. Yes, go ahead! B. Yes, Id love to!
C. Id prefer not to. D. Im afraid so.

Cau 19-22: Dialogue arrangement: Choose A, B, C or D to make a complete dialogue for each

question.



19.

a. How far is it from here?
b. Sure! Go straight down this road, and take the second left.
c. Its about a five-minute walk. You'll see it on your right.

d. Can you help me find the nearest pharmacy?

Aacdb B.abdc
C.dcab D.d bac
20.

a. Is it usually quiet there?
b. Do you know where I can find a quiet place to study?
c. The library has a study room on the third floor.

d. Yes, its pretty peaceful.Just make sure to get there early to grab a spot.

A.bdac B.bcad
C.adbec D.acbd
21.

a. That sounds interesting! Ive never tried it before. What do I need to get started?
b. Im really into painting. Its a great way to unwind and be creative.

c. Just some basic tools, seeds, and a bit of patience. Its really rewarding.

d. Ive been thinking about picking up a new hobby. Any suggestions?

e. Ill look into it. What about you? Whats your favorite hobby?

f. How about gardening? Its relaxing and you can grow your own plants.

A.debfac B.dfebac
Cdacebf D.dfaceb
22.

a. Small actions like using public transport, reducing energy consumption, and supporting green
initiatives can make a difference.

b. Ive been reading about the impact of air pollution lately. It sounds pretty serious.

c. Absolutely! Trees absorb pollutants and improve air quality, so planting them is very
beneficial.

d. What can we do to help reduce it?



e. That makes sense. Ive also heard that planting more trees helps.

f. Yes, its a major issue. Poor air quality can lead to health problems and environmental damage.
Abfdaec B.dabfec

Cbcfdae D.bfecda

Cau 23-26: Sentence rewriting: Choose A, B, C or D that has the CLOSEST meaning to the
given sentence in each question.

23. The road was so slippery that no vehicle could drive on it.

A. It was such a slippery road that any vehicle could drive on it.

B. The road was too slippery for no vehicle to drive on it.

C. No vehicle could drive on the road that was slippery enough.

D. It was so slippery a road that no vehicle could drive on it.

24. Project-based learning is definitely more beneficial than rote learning.
A. Rote learning is probably less beneficial than project-based learning.
B. Rote learning is likely not as beneficial as project-based learning.

C. Rote learning is certainly as beneficial as project-based learning.

D. Rote learning is absolutely less beneficial than project-based learning.

25. Immediately after the keynote speaker finished her inspiring speech, the audience gave her a
round of applause.

A. Scarcely had the keynote speaker finished her encouraging speech when the audience erupted
in applause.

B. No sooner had the keynote speaker concluded her speech than the audience applauded her for
her encouragement.

C. The audience praised the keynote speaker for her encouraging speech long before she
concluded it.

D. During her encouraging speech, the keynote speaker received rounds of applause from the

audience.

26. The teacher's encouraging words gave the students a boost of confidence.
A. The teacher's encouraging words greatly motivate the students.

B. The students felt a surge of confidence from the teacher's encouragement.
C. The students appreciated the teacher's kind words of encouragement.

D. What the teacher said was very encouraging to the students.



Cau 27-30: Sentence combination: Choose A, B, C or D that has the CLOSEST meaning to the
given pair of sentences in each question.

27. The wind is picking up. A storm is approaching.

A. As the wind is intensifying, a storm might be on its way.

B. When the wind increases, the storm could become severe.

C. A storm is definitely coming when the wind gets stronger.

D. Maybe a storm is coming though the wind is getting stronger.

28. I can either take a taxi or walk to the event. I prefer the former option.
A. I prefer walking to the event to taking a taxi.

B. Ive decided to take a taxi instead of walking to the event.

C. Id rather take a taxi than walk to the event.

D. I am wavering between taking a taxi or walking to the event.

29. He lived in extreme poverty. It hindered his ability to pursue higher education.

A. He could have pursued higher education when he had lived in luxury.

B. It was obvious that a high standard of living could enable him to pursue higher education.
C. If it hadnt been for extreme poverty, he could pursue higher education.

D. It was extreme poverty that hampered him from pursuing higher education.

30. He was offered a promotion at work. This came after years of dedication and hard work.
A. His dedication and hard work over the years eventually led to a promotion at work.

B. After many years of hard work, he was promoted at his new job.

C. He was promoted to a senior position, which was the result of years of commitment and
effort.

D. Years of hard work and dedication were attributed to his getting a promotion at work.

Cau 31-35: Cloze text: Read the passage below and choose A, B, C or D to fill in each blank
from 31 to 35.

One of the most important learning skills you can help your child to develop is to become an
independent learner. Children who are more independent learners tend to (31) and have
a greater sense that they are in control of their learning. Encouraging independent learning can

(32) from a young age, but it can be hard for parents who are not trained teachers to



know when they are giving too much help and when they are not giving enough. If you regularly
help your child with their homework, there are a few simple steps you can take to help your child

become a more independent learner.

1. Help your child to answer the first question or two in an activity then allow them to
do the next ones by themselves. (33) , but if they are struggling it may help

them to point out how you would find the answer.

2. Negotiate a time limit on how long they think it will take them to finish the (34)

of the activity to help them stay focused on their work.

3. If your child is used to you being with them when they complete their homework,

gradually move away from them over a period of time.

Most importantly, be firm. If your child wont try to work independently or is fussing over
something that they can do quite easily when you are there, let them know (35) to do it
by themselves but you wont help them unless they really need it. It can be hard to say no, but it is

worth it to see them become more confident and self-assured as learners and people.

(Adapted from https://www.britishcouncil.vn/)

31.

A. become more self-confidently B. act more self-confident

C. have more self-confidence D. grow more self-confidence
32.

A. emerge B. derive C. exist D. happen

33.

A. Encourage them to get the answer themselves
B. Encouraging them to get the answer themselves
C. To encourage them to get the answer themselves

D. Encouraged them to get the answer themselves

34.

A. leftovers B. rest C. balance D. remains



3S.

A. what you have confidence in their ability B. that they have confidence in their ability
C. their ability to become more confident D. that you have confidence in their ability
Cau 36-40: Reading comprehension 1: Read the passage below and choose A, B, C or D to

answer each question from 36 to 40.

Teenagers' mathematics and reading skills are in an unprecedented decline across dozens of
countries and COVID school closures are only partly to be blamed, the OECD said on Tuesday
in its latest survey of global learning standards. The Paris-based Organisation for Economic
Cooperation and Development said it had seen some of the steepest drops in performance since
2000 when it began its usually triennial tests of 15-year-olds reading, maths and science skills.
Nearly 700,000 youths took the two-hour test last year in the OECD's 38 mostly developed
country members and 44 non-members for the latest study, closely watched by policymakers as
the largest international comparison of education performance. Compared to when the tests were
last conducted in 2018, reading performance fell by 10 points on average in OECD countries,
and by 15 points in mathematics, a loss equivalent to three-quarters of a year's worth of learning.
While more than half of the 81 countries surveyed saw declines, Germany, Iceland, the
Netherlands, Norway and Poland saw particularly sharp drops in mathematics scores, the OECD
said. On average across the OECD, one out of four 15-year-olds tested as a low performer in
maths, reading and science, which means they could not use basic algorithms or interpret simple
texts, the study found. "There are underlying structural factors and they are much more likely to
be permanent features of our education systems that policymakers should really take seriously."
Countries that provided extra teacher support during COVID school closures scored better and
results were generally better in places where easy teacher access for special help was high.
Poorer results tended to be associated with higher rates of mobile phone use for leisure and
where schools reported teacher shortages. The OECD said the decline was not inevitable,
pointing to Singapore, where students scored the highest in maths, reading and science, with
results that suggested they were on average three to five years ahead of their OECD peers.

After Singapore, Macau, Taiwan, Hong Kong, Japan and South Korea also outperformed in
maths and science, where Estonia and Canada also scored well. In reading, Ireland, Japan, South
Korea and Taiwan earned top marks, and was all the more notable in Ireland and Japan because

their spending per student was no higher than the OECD average.



(Adapted from https://www.reuters.com/)

36. What is the main idea of paragraph 1?

A. Surprising findings about students academic performance in developed countries
B. A sharp decline in teenagers mathematics and reading skills in many countries

C. The OECDs efforts to promote continuous learning amidst the Covid-19 pandemic

D. Illiteracy rates across the world reaching a record high due to COVID school closures

37. According to the passage, what is indicated about the two-hour test last year?
A. Tt is organised every other year by the OECD.

B. Students from 38 most developed countries took it.

C. It was closely monitored by professional examiners.

D. Its aim was to get insights into students academic performance.

38. The word they in paragraph 3 refers to
A. underlying structural factors

B. basic algorithms

C. drops in mathematics scores

D. features of our education systems

39. The author mentions Singapore in paragraph 4 in order to

A. imply that Singapore's students are always more intelligent than their peers

B. highlight its efforts to maintain high educational performance despite Covid-19
C. indicate that poorer results due to COVID school closures were understandable

D. emphasise that Singapores education system is the most advanced in the world

40. Which of the following would the author most likely support?

A. Students from Asian countries are more competent than their Western counterparts.
B. Ireland and Japan do not put an emphasis on investing in educational development.
C. Maths and science are subjects that young learners often pay more attention to.

D. Other factors other than spending may play a significant role in student success.

Cau 41-45: Reading comprehension 2: Read the passage below and choose A, B, C or D to

answer each question from 41 to 45.

A new challenge to vehicle production is on the horizon and, again, it comes from automation.



However, this time it is not to do with the manufacturing process, but with the vehicles
themselves.

Research projects on vehicle automation are not new. But since Google announced in 2010 that it
had been trialling self-driving cars on the streets of California, progress in this field has

rapidly gathered pace.

There are many reasons why technology is advancing so fast. One frequently cited motive is
safety. Research has demonstrated that more than 90 per cent of road collisions involved human
error as a contributory factor, and it is the primary cause in the vast majority. Automation may
help to reduce the incidence of human error. Another aim is to free the time people spend driving
for other purposes. If the vehicle can do some or all of the driving, it may be possible to be
productive, to socialise or simply to relax while automation systems have responsibility for safe
control of the vehicle.

Beyond these direct benefits, we can consider the wider implications for transport and society,
and how manufacturing processes might need to respond as a result. At present, the average car
spends more than 90 per cent of its life parked. Automation means that car-sharing schemes
become much more viable, particularly in urban areas with significant travel demand.

However, there are a number of hurdles to overcome in delivering automated vehicles to our
roads. These include the technical difficulties in ensuring that the vehicle works reliably in the
infinite range of traffic, weather and road situations it might encounter; the regulatory challenges
in understanding how liability and enforcement might change when drivers are no longer
essential for vehicle operation; and the societal changes that may be required for communities to
trust and accept automated vehicles as being a valuable part of the mobility landscape.

(Adapted from https://www.newstatesman.com/)

41. The word it in paragraph 1 refers to

A. vehicle production

B. automation

C. new challenge

D. manufacturing process

42. The phrase gathered pace in paragraph 2 mostly means

A. recovered its process

B. started to rise again



C. became faster

D. dominated the market

43. What is the main idea of paragraph 3?

A. Benefits of driverless cars in reducing car accidents

B. Advantages of automated technology in designing cars
C. Selling points of automation technology in driving

D. Outstanding features of new models of driverless cars

44. Which of the following best paraphrases this sentence: Automation means that car-sharing
schemes become much more viable, particularly in urban areas with significant travel demand.?
A. Automation helps to turn the idea of car-pooling into reality, alleviating travel demand in the
urban landscape.

B. Automation makes car-sharing programmes much more practical, especially in cities with
high travel needs.

C. The concept of car-sharing in urban areas where travel demand is extremely high has become
much more feasible thanks to automation.

D. The feasibility of car-pooling in crowded cities where daily commutes are the norm is

unquestionable with the help of automation.

45. Which of the following can be inferred from the passage?

A. There is still an air of uncertainty about the safety and reliability of automated vehicles among
the public.

B. Before officially launching automated vehicles to the roads, it is of considerable importance to
raise public awareness.

C. The obstacles to delivering automated vehicles to the roads will be surmounted soon thanks to
groundbreaking advances in technology.

D. Driverless cars which are currently trialled on the roads havent met safety regulations.

Cau 46-50: Logical thinking and problem solving: Choose A, B C or D to answer each
question.

46. You are at a family gathering where many relatives are playing a board game that you dont
know how to play. You are somewhat reserved and unfamiliar with most of the relatives.

However, you would like to join the game. What can you say to participate?



(A) Can someone explain how this board game works?
(B) The board game looks really interesting, but I don't know the rules.
(C) Id like to join the board game, could someone teach me how to play?

(D) This gathering is very enjoyable, and the board game seems fun.

47. Alex, the team leader, is asking Jamie, a team member, about a project update. What would
be the best response for Jamie in this situation?
Alex: Can you update me on the project status by the end of the day?

Jamie:

(A) Sure thing! I'll send you the update on it later today.
(B) No problem. I'll need more details to complete the report.
(C) Thats fine. Can you remind me of the deadline again?

(D) I wasnt expecting this. The project update is due next week.

48. Following are statements about a book. Which statement can be a fact?
(A) The book is the most thrilling read of the year.

(B) The book is considered the author's finest work.

(C) The book is difficult to put down.

(D) The book received the National Book Award in 2022.

49. Youve noticed that whenever you use the microwave in your kitchen, the internet connection
in your house becomes unstable. What is the likely cause?

(A) The microwave and the internet connection are both experiencing technical issues.

(B) There is a problem with the internet service provider.

(C) The microwave is causing interference with the Wi-Fi signal.

(D) The internet connection needs to be upgraded.

50. Which of the following situations best exemplifies being made redundant?

(A) Emily is given a performance review that indicates she needs to improve her skills but is not
immediately affected.

(B) Emily's department is eliminated as part of a company restructuring, and she is informed that
her position is no longer needed.

(C) Emily is offered a different role in the company after her current job is deemed less essential.

(D) Emily decides to leave her job voluntarily to pursue another career opportunity.
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Cau 1-10: Sentence completion: Choose A, B, C or D to complete each sentence.
1. Teenagers should be cautious when chatting with people they don’t know well on

social media.

A. whose B. who C. where D. which

2. Some rare birds this remote island.

A. reside B. dwell C. inhabit D. settle

3. Employers wear protective clothing during their shifts.

A. should have B. need C. would have D. have to

4. working hours can help strike a good work-life balance.

A. Adaptable B. Variable C. Flexible D. Fluctuating

5. A few people writing letters to sending text messages now.

A. still prefer B. have still preferred C. will still prefer D. are still preferring
6. Some of her colleagues find her - she never stops complaining.

A. exhausted B. exhaustion C. exhausting D. exhaustive

7. If Joey of the change, he wouldnt be present at the office now.

A. were informed B. informed C. had informed D. had been informed
8. The smartwatch can be by voice and touch.

A. stimulated B. activated C. sparked D. initiated

9. We will have our fence soon. It collapsed after the storm last night.

A. rebuilt B. rebuilding C. rebuild D. to rebuild

10. Teenagers seem to that their parents will always be around.

A. turn a blind eye B. take it for granted

C. beat around the bush D. take with a grain of salt

Cau 11-12: Synonyms: Choose A, B, C or D that has the CLOSEST meaning to the underlined
word/phrase in each question.

11. They acquired all the land needed for the road construction project.
A. collected B. earned C. obtained D. grabbed



12. The talk aimed to foster diplomatic relations between the two countries.

A. establish B. restore C. promote D. enrich

Cau 13-14: Antonyms: Choose A, B, C or D that has the OPPOSITE meaning to the
underlined word/phrase in each question.

13. Many folk songs are written about the lives of ordinary people in the past.

A. social media influencers B. known criminals

C. high-ranking individuals D. members of the public

14. Through these seminars, teenagers have a chance to give voice to problems they care about.
A. become aware of B. prevent the spread of

C. keep silent about D. deny the fact about

Céau 15-18: Dialogue completion: Choose A, B, C or D to complete each dialogue.

15. Susan: Im sorry for stepping on your foot.

Mark:
A. Youre welcome. B. Its my pleasure.
C. Never mind. D. No, thanks.

16. Minh: I failed the driving test.

Long:
A. No worries! B. Better luck next time!
C. The test was bad, wasnt it? D. Drunk-driving is dangerous.

17. Alex: Ive got a new project proposal for us to review. Can you decide by today?

Jordan:

A. Could I sleep on it and let you know tomorrow?
B. Could I take a break from it and let you know tomorrow?
C. Let me give it some thought and I will accept your proposal.

D. Il take time to mull it over after giving my feedback.

18. Phillips: Would you mind if I used your car tonight?

Ann:
A. Yes, go ahead! B. Yes, Id love to!
C. Id prefer not to. D. Im afraid so.

Cau 19-22: Dialogue arrangement: Choose A, B, C or D to make a complete dialogue for each

question.



19.

a. How far is it from here?
b. Sure! Go straight down this road, and take the second left.
c. Its about a five-minute walk. You'll see it on your right.

d. Can you help me find the nearest pharmacy?

Aacdb B.abdc
C.dcab D.d bac
20.

a. Is it usually quiet there?
b. Do you know where I can find a quiet place to study?
c. The library has a study room on the third floor.

d. Yes, its pretty peaceful.Just make sure to get there early to grab a spot.

A.bdac B.bcad
C.adbec D.acbd
21.

a. That sounds interesting! Ive never tried it before. What do I need to get started?
b. Im really into painting. Its a great way to unwind and be creative.

c. Just some basic tools, seeds, and a bit of patience. Its really rewarding.

d. Ive been thinking about picking up a new hobby. Any suggestions?

e. Ill look into it. What about you? Whats your favorite hobby?

f. How about gardening? Its relaxing and you can grow your own plants.

A.debfac B.dfebac
Cdacebf D.dfaceb
22.

a. Small actions like using public transport, reducing energy consumption, and supporting green
initiatives can make a difference.

b. Ive been reading about the impact of air pollution lately. It sounds pretty serious.

c. Absolutely! Trees absorb pollutants and improve air quality, so planting them is very
beneficial.

d. What can we do to help reduce it?



e. That makes sense. Ive also heard that planting more trees helps.

f. Yes, its a major issue. Poor air quality can lead to health problems and environmental damage.
Abfdaec B.dabfec

Cbcfdae D.bfecda

Cau 23-26: Sentence rewriting: Choose A, B, C or D that has the CLOSEST meaning to the
given sentence in each question.

23. The road was so slippery that no vehicle could drive on it.

A. It was such a slippery road that any vehicle could drive on it.

B. The road was too slippery for no vehicle to drive on it.

C. No vehicle could drive on the road that was slippery enough.

D. It was so slippery a road that no vehicle could drive on it.

24. Project-based learning is definitely more beneficial than rote learning.
A. Rote learning is probably less beneficial than project-based learning.
B. Rote learning is likely not as beneficial as project-based learning.

C. Rote learning is certainly as beneficial as project-based learning.

D. Rote learning is absolutely less beneficial than project-based learning.

25. Immediately after the keynote speaker finished her inspiring speech, the audience gave her a
round of applause.

A. Scarcely had the keynote speaker finished her encouraging speech when the audience erupted
in applause.

B. No sooner had the keynote speaker concluded her speech than the audience applauded her for
her encouragement.

C. The audience praised the keynote speaker for her encouraging speech long before she
concluded it.

D. During her encouraging speech, the keynote speaker received rounds of applause from the

audience.

26. The teacher's encouraging words gave the students a boost of confidence.
A. The teacher's encouraging words greatly motivate the students.

B. The students felt a surge of confidence from the teacher's encouragement.
C. The students appreciated the teacher's kind words of encouragement.

D. What the teacher said was very encouraging to the students.



Cau 27-30: Sentence combination: Choose A, B, C or D that has the CLOSEST meaning to the
given pair of sentences in each question.

27. The wind is picking up. A storm is approaching.

A. As the wind is intensifying, a storm might be on its way.

B. When the wind increases, the storm could become severe.

C. A storm is definitely coming when the wind gets stronger.

D. Maybe a storm is coming though the wind is getting stronger.

28. I can either take a taxi or walk to the event. I prefer the former option.
A. I prefer walking to the event to taking a taxi.

B. Ive decided to take a taxi instead of walking to the event.

C. Id rather take a taxi than walk to the event.

D. I am wavering between taking a taxi or walking to the event.

29. He lived in extreme poverty. It hindered his ability to pursue higher education.

A. He could have pursued higher education when he had lived in luxury.

B. It was obvious that a high standard of living could enable him to pursue higher education.
C. If it hadnt been for extreme poverty, he could pursue higher education.

D. It was extreme poverty that hampered him from pursuing higher education.

30. He was offered a promotion at work. This came after years of dedication and hard work.
A. His dedication and hard work over the years eventually led to a promotion at work.

B. After many years of hard work, he was promoted at his new job.

C. He was promoted to a senior position, which was the result of years of commitment and
effort.

D. Years of hard work and dedication were attributed to his getting a promotion at work.

Cau 31-35: Cloze text: Read the passage below and choose A, B, C or D to fill in each blank
from 31 to 35.

One of the most important learning skills you can help your child to develop is to become an
independent learner. Children who are more independent learners tend to (31) and have
a greater sense that they are in control of their learning. Encouraging independent learning can

(32) from a young age, but it can be hard for parents who are not trained teachers to



know when they are giving too much help and when they are not giving enough. If you regularly
help your child with their homework, there are a few simple steps you can take to help your child

become a more independent learner.

1. Help your child to answer the first question or two in an activity then allow them to
do the next ones by themselves. (33) , but if they are struggling it may help

them to point out how you would find the answer.

2. Negotiate a time limit on how long they think it will take them to finish the (34)

of the activity to help them stay focused on their work.

3. If your child is used to you being with them when they complete their homework,

gradually move away from them over a period of time.

Most importantly, be firm. If your child wont try to work independently or is fussing over
something that they can do quite easily when you are there, let them know (35) to do it
by themselves but you wont help them unless they really need it. It can be hard to say no, but it is

worth it to see them become more confident and self-assured as learners and people.

(Adapted from https://www.britishcouncil.vn/)

31.

A. become more self-confidently B. act more self-confident

C. have more self-confidence D. grow more self-confidence
32.

A. emerge B. derive C. exist D. happen

33.

A. Encourage them to get the answer themselves
B. Encouraging them to get the answer themselves
C. To encourage them to get the answer themselves

D. Encouraged them to get the answer themselves

34.

A. leftovers B. rest C. balance D. remains



3S.

A. what you have confidence in their ability B. that they have confidence in their ability
C. their ability to become more confident D. that you have confidence in their ability
Cau 36-40: Reading comprehension 1: Read the passage below and choose A, B, C or D to

answer each question from 36 to 40.

Teenagers' mathematics and reading skills are in an unprecedented decline across dozens of
countries and COVID school closures are only partly to be blamed, the OECD said on Tuesday
in its latest survey of global learning standards. The Paris-based Organisation for Economic
Cooperation and Development said it had seen some of the steepest drops in performance since
2000 when it began its usually triennial tests of 15-year-olds reading, maths and science skills.
Nearly 700,000 youths took the two-hour test last year in the OECD's 38 mostly developed
country members and 44 non-members for the latest study, closely watched by policymakers as
the largest international comparison of education performance. Compared to when the tests were
last conducted in 2018, reading performance fell by 10 points on average in OECD countries,
and by 15 points in mathematics, a loss equivalent to three-quarters of a year's worth of learning.
While more than half of the 81 countries surveyed saw declines, Germany, Iceland, the
Netherlands, Norway and Poland saw particularly sharp drops in mathematics scores, the OECD
said. On average across the OECD, one out of four 15-year-olds tested as a low performer in
maths, reading and science, which means they could not use basic algorithms or interpret simple
texts, the study found. "There are underlying structural factors and they are much more likely to
be permanent features of our education systems that policymakers should really take seriously."
Countries that provided extra teacher support during COVID school closures scored better and
results were generally better in places where easy teacher access for special help was high.
Poorer results tended to be associated with higher rates of mobile phone use for leisure and
where schools reported teacher shortages. The OECD said the decline was not inevitable,
pointing to Singapore, where students scored the highest in maths, reading and science, with
results that suggested they were on average three to five years ahead of their OECD peers.

After Singapore, Macau, Taiwan, Hong Kong, Japan and South Korea also outperformed in
maths and science, where Estonia and Canada also scored well. In reading, Ireland, Japan, South
Korea and Taiwan earned top marks, and was all the more notable in Ireland and Japan because

their spending per student was no higher than the OECD average.



(Adapted from https://www.reuters.com/)

36. What is the main idea of paragraph 1?

A. Surprising findings about students academic performance in developed countries
B. A sharp decline in teenagers mathematics and reading skills in many countries

C. The OECDs efforts to promote continuous learning amidst the Covid-19 pandemic

D. Illiteracy rates across the world reaching a record high due to COVID school closures

37. According to the passage, what is indicated about the two-hour test last year?
A. Tt is organised every other year by the OECD.

B. Students from 38 most developed countries took it.

C. It was closely monitored by professional examiners.

D. Its aim was to get insights into students academic performance.

38. The word they in paragraph 3 refers to
A. underlying structural factors

B. basic algorithms

C. drops in mathematics scores

D. features of our education systems

39. The author mentions Singapore in paragraph 4 in order to

A. imply that Singapore's students are always more intelligent than their peers

B. highlight its efforts to maintain high educational performance despite Covid-19
C. indicate that poorer results due to COVID school closures were understandable

D. emphasise that Singapores education system is the most advanced in the world

40. Which of the following would the author most likely support?

A. Students from Asian countries are more competent than their Western counterparts.
B. Ireland and Japan do not put an emphasis on investing in educational development.
C. Maths and science are subjects that young learners often pay more attention to.

D. Other factors other than spending may play a significant role in student success.

Cau 41-45: Reading comprehension 2: Read the passage below and choose A, B, C or D to

answer each question from 41 to 45.

A new challenge to vehicle production is on the horizon and, again, it comes from automation.



However, this time it is not to do with the manufacturing process, but with the vehicles
themselves.

Research projects on vehicle automation are not new. But since Google announced in 2010 that it
had been trialling self-driving cars on the streets of California, progress in this field has

rapidly gathered pace.

There are many reasons why technology is advancing so fast. One frequently cited motive is
safety. Research has demonstrated that more than 90 per cent of road collisions involved human
error as a contributory factor, and it is the primary cause in the vast majority. Automation may
help to reduce the incidence of human error. Another aim is to free the time people spend driving
for other purposes. If the vehicle can do some or all of the driving, it may be possible to be
productive, to socialise or simply to relax while automation systems have responsibility for safe
control of the vehicle.

Beyond these direct benefits, we can consider the wider implications for transport and society,
and how manufacturing processes might need to respond as a result. At present, the average car
spends more than 90 per cent of its life parked. Automation means that car-sharing schemes
become much more viable, particularly in urban areas with significant travel demand.

However, there are a number of hurdles to overcome in delivering automated vehicles to our
roads. These include the technical difficulties in ensuring that the vehicle works reliably in the
infinite range of traffic, weather and road situations it might encounter; the regulatory challenges
in understanding how liability and enforcement might change when drivers are no longer
essential for vehicle operation; and the societal changes that may be required for communities to
trust and accept automated vehicles as being a valuable part of the mobility landscape.

(Adapted from https://www.newstatesman.com/)

41. The word it in paragraph 1 refers to

A. vehicle production

B. automation

C. new challenge

D. manufacturing process

42. The phrase gathered pace in paragraph 2 mostly means

A. recovered its process

B. started to rise again



C. became faster

D. dominated the market

43. What is the main idea of paragraph 3?

A. Benefits of driverless cars in reducing car accidents

B. Advantages of automated technology in designing cars
C. Selling points of automation technology in driving

D. Outstanding features of new models of driverless cars

44. Which of the following best paraphrases this sentence: Automation means that car-sharing
schemes become much more viable, particularly in urban areas with significant travel demand.?
A. Automation helps to turn the idea of car-pooling into reality, alleviating travel demand in the
urban landscape.

B. Automation makes car-sharing programmes much more practical, especially in cities with
high travel needs.

C. The concept of car-sharing in urban areas where travel demand is extremely high has become
much more feasible thanks to automation.

D. The feasibility of car-pooling in crowded cities where daily commutes are the norm is

unquestionable with the help of automation.

45. Which of the following can be inferred from the passage?

A. There is still an air of uncertainty about the safety and reliability of automated vehicles among
the public.

B. Before officially launching automated vehicles to the roads, it is of considerable importance to
raise public awareness.

C. The obstacles to delivering automated vehicles to the roads will be surmounted soon thanks to
groundbreaking advances in technology.

D. Driverless cars which are currently trialled on the roads havent met safety regulations.

Cau 46-50: Logical thinking and problem solving: Choose A, B C or D to answer each
question.

46. You are at a family gathering where many relatives are playing a board game that you dont
know how to play. You are somewhat reserved and unfamiliar with most of the relatives.

However, you would like to join the game. What can you say to participate?



(A) Can someone explain how this board game works?
(B) The board game looks really interesting, but I don't know the rules.
(C) Id like to join the board game, could someone teach me how to play?

(D) This gathering is very enjoyable, and the board game seems fun.

47. Alex, the team leader, is asking Jamie, a team member, about a project update. What would
be the best response for Jamie in this situation?
Alex: Can you update me on the project status by the end of the day?

Jamie:

(A) Sure thing! I'll send you the update on it later today.
(B) No problem. I'll need more details to complete the report.
(C) Thats fine. Can you remind me of the deadline again?

(D) I wasnt expecting this. The project update is due next week.

48. Following are statements about a book. Which statement can be a fact?
(A) The book is the most thrilling read of the year.

(B) The book is considered the author's finest work.

(C) The book is difficult to put down.

(D) The book received the National Book Award in 2022.

49. Youve noticed that whenever you use the microwave in your kitchen, the internet connection
in your house becomes unstable. What is the likely cause?

(A) The microwave and the internet connection are both experiencing technical issues.

(B) There is a problem with the internet service provider.

(C) The microwave is causing interference with the Wi-Fi signal.

(D) The internet connection needs to be upgraded.

50. Which of the following situations best exemplifies being made redundant?

(A) Emily is given a performance review that indicates she needs to improve her skills but is not
immediately affected.

(B) Emily's department is eliminated as part of a company restructuring, and she is informed that
her position is no longer needed.

(C) Emily is offered a different role in the company after her current job is deemed less essential.

(D) Emily decides to leave her job voluntarily to pursue another career opportunity.
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Cau 1-10: Sentence completion: Choose A, B, C or D to complete each sentence.

1. Teenagers should be cautious when chatting with people they don’t know well on
social media.

A. whose B. who C. where D. which

Ménh dé quan hé:

Dung dai tir “who” dé thay cho tir chi vt “people”.

Tam dich: Céc thanh thiéu nién nén than trong khi tro chuyén véi nhitng ngudi ma ho khong
quen biét r5 trén mang xa hoi.

— Chon dap an B

2. Some rare birds this remote island.
A. reside B. dwell C. inhabit D. settle

Kién thirc tir virng:

- reside + adv/prep (v): cu trd, sinh séng

- dwell (v) + adv/prep: cu ngy, sinh séng

- inhabit (v): cu ngu, séng ¢ dau (di trye tiép VOl tan ngir)

- settle (v) + adv/prep: dinh cu, 6n dinh cudc sdng

Tam dich: Mot s6 loai chim quy hiém cu ngu trén hon dao héo lanh nay
— Chon dap an C

3. Employers wear protective clothing during their shifts.
A. should have B. need C. would have D. have to

- should have PII: 1€ ra da nén lam gi trong qué khu

- need to V: can lam gi

- would have: chi mot hanh dong gia dinh da c6 thé xay ra trong qué kht.
- have to: dién ta sy bat budc lam gi (quy dinh)

Tam dich: Nhan vién phai mac dd bao ho trong ca lam viéc cua ho.

— Chon dap an D

4. working hours can help strike a good work-life balance.

A. Adaptable B. Variable C. Flexible D. Fluctuating



Kién thirc tir vung:

- Adaptable (adj): c6 kha nang thich nghi

- Variable (adj): c6 thé thay do6i

- Flexible (adj): linh hoat — flexible working hours: gio lam viéc linh hoat

- Fluctuating (adj): dao dong, khong 6n dinh

Tam dich: Gio lam viéc linh hoat c6 thé giup dat dugc sy cin bang tdt giita cong viée va cudc
song.

— Chon dap an C

5. A few people writing letters to sending text messages now.
A. still prefer B. have still preferred C. will still prefer D. are still preferring

‘prefer’ 1a dong tir khong dung & dang tiép dién, nén ta khong dung D.
Phu hop trong ngit canh nay nht, ta dung thi HTD.

Tam dich: Bay gid, mot vai ngudi van thich viét thu hon 13 guri tin nhan.
— Chon dap an A

6. Some of her colleagues find her - she never stops complaining.
A. exhausted B. exhaustion C. exhausting D. exhaustive

CAu trac find + O + adj: cam théy ai d6/cai gi nhu thé nao.

Tinh tir ¢6 dudi —ed duoc dung dé chi cam xuc.

Tinh tir ¢6 dudi —ing duoc dung dé chi ban chat.

Ta dung tinh tir ‘exhausting’ dé thé hién ban chat, tinh cach cta co nay.

Tam dich: Mot s6 dong nghiép cam thay c6 dy that mét moi - c6 khong bao gio nglng phan nan.
— Chon dap an C

7. If Joey of the change, he wouldn’t be present at the office now.
A. were informed B. informed C. had informed D. had been informed

Céu tric cu diéu kién loai tron:

If+ S + had + Vpp, S + would + V: dung dé gia dinh mdt viéc khong cé that trong qua khir va
két qua khong c6 that ¢ hién tai.

Tam dich: Néu Joey di duogc thong bao vé sy thay doi, thi bay gio anh 4y da khong c6 mit &
van phong.

— Chon dap an D

8. The smartwatch can be by voice and touch.
A. stimulated B. activated C. sparked D. initiated

Kién thirc tir vurng:

- stimulate (v): kich thich, thuc day
- activate (v): kich hoat, khéi dong
- spark (v): khoi day, phat trién

- initiate (v): khoi xudng, bat dau



Tam dich: Dong ho thong minh c6 thé dugc kich hoat bang giong néi va cham.
— Chon dap an B

9. We will have our fence soon. It collapsed after the storm last night.
A. rebuilt B. rebuilding C. rebuild D. to rebuild
Bi dong truyén khién:

have something + Vpp: c6 vi¢c gi d6 duoc lam (khong tu minh lam) )
Tam dich: Ching t6i s€ cho xay lai hang rao sém. N6 da sap sau con bao toi qua.
— Chon dap an A

10. Teenagers seem to that their parents will always be around.
A. turn a blind eye B. take it for granted

C. beat around the bush D. take with a grain of salt
Idiom:

- turn a blind eye: 1am ngo, gia vo khong thay

- take it for granted: coi 1a diéu hién nhién, khong tran trong

- beat around the bush: vong vo tam qudc

- take with a grain of salt: khong hoan toan tin diéu gi

Tam dich: Thanh thiéu nién duong nhu coi viéc cha me luén & bén 1a diéu hién nhién.
— Chon dap an B

Cau 11-12: Synonyms: Choose A, B, C or D that has the CLOSEST meaning to the underlined
word/phrase in each question.

11. They acquired all the land needed for the road construction project.

A. collected B. earned C. obtained D. grabbed

Kién thirc tir vurng:

- collect (v): thu thap, suu tam

- earn (v): kiém duoc, c6 duoc (thir gi ban xtmg dang vi ban di 1am tot)

- obtain (v): dat duoc, c6 duogc

- grab (v): chop ldy, nim lay

acquire (v): thu dugc, 1ay dugc = obtain

Tam dich: Ho dd mua duoc toan bo dat can thiét cho du an xay dung dudng.
— Chon dap an C

12. The talk aimed to foster diplomatic relations between the two countries.

A. establish B. restore C. promote D. enrich

Kién thirc tir vurng:

- establish (v): thanh 1ap, thiét lap

- restore (v): khoi phuc, phuc hi

- promote (v): thiic ddy, khuyén khich



- enrich (v): lam giau, lam phong phu

foster (v): thac day = promote

Tam dich: Cudc noi chuyén nham thic day quan hé ngoai giao giira hai quéc gia.
— Chon dap an C

Cau 13-14: Antonyms: Choose A, B, C or D that has the OPPOSITE meaning to the
underlined word/phrase in each question.

13. Many folk songs are written about the lives of ordinary people in the past.

A. social media influencers B. known criminals
C. high-ranking individuals D. members of the public

Kién thirc tir vurng:

- social media influencers: nhirng nguoi cé stc anh hudng trén mang xa hoi.

- known criminals: nhitng tén t6i pham ai ciing biét

- high-ranking individuals: nhiing ca nhan c6 dia vi cao, ngudi c6 chiic vu cao.

- members of the public: ngudi dan

ordinary people: nguoi binh thuong >< high-ranking individuals

Tam dich: Nhiéu bai hat dan ca dugc viét vé cudc séng cua nhitng ngudi dan thuong trong qué
khu.

— Chon dap an C

14. Through these seminars, teenagers have a chance to give voice to problems they care about.
A. become aware of B. prevent the spread of
C. keep silent about D. deny the fact about

Kién thirc tir vung:

- become aware of: nhén thirc vé, biét dén

- prevent the spread of: ngan chan sy lan rong cua diéu gi

- keep silent about: gitr im ldng, khong noi dén diéu gi

- deny the fact about: phui nhén su that vé diéu gi

give voice to: 1én tiéng vé diéu gi >< keep silent about

Tam dich: Thong qua cac budi hoi thao nay, thanh thiéu nién cé co hoi 1én tiéng vé nhing van
dé ma ho quan tAm.

— Chon dap an C

Cau 15-18: Dialogue completion: Choose A, B, C or D to complete each dialogue.
15. Susan: I’m sorry for stepping on your foot.

Mark:

A. You’re welcome. B. It’s my pleasure.

C. Never mind. D. No, thanks.



Tam dich:

Susan: T6i xin 16i vi da giém 1én chan ban.
A. Khong c6 chi. (Dung dé cam on)

B. D6 13 niém vinh hanh cua ti.

C. Khong sao dau.

D. Khoéng, cam on.

— Chon dap an C

16. Minh: I failed the driving test.

Long:
A. No worries! B. Better luck next time!
C. The test was bad, wasn’t it? D. Drunk-driving is dangerous.

Minh: T61 da truot bai thi 1ai xe.

A. Khong c6 gi!

B. Chic may mén lan sau!

C. Bai kiém tra that t&, dung khong?
D. Lai xe khi say rat nguy hiém.

— Chon dap an B

17. Alex: I’ve got a new project proposal for us to review. Can you decide by today?

Jordan:

A. Could I sleep on it and let you know tomorrow?

B. Could I take a break from it and let you know tomorrow?

C. Let me give it some thought and I will accept your proposal.

D. I'll take time to mull it over after giving my feedback.

Tam dich: ) q

Alex: Minh c6 mot dé xuat dg &n méi dé chung ta xem xét. Ban co6 thé quyét dinh trong hom nay
khong?

A. Minh c¢¢ thé suy nghi thém va bao cho ban biét vao ngay mai dugc khong?
B. Minh c6 thé nghi ngoi mdt chut r6i bao cho ban vao ngay mai dugc khong?
C. DBé minh suy nghi va minh sé chap nhan dé xuat cua ban.

D. Minh s& danh thoi gian suy nghi k¥ sau khi dua ra danh gia ctia minh.

— Chon dap an A

18. Phillips: Would you mind if I used your car tonight?

Ann:

A. Yes, go ahead! B. Yes, I’d love to!
C. I’d prefer not to. D. I’'m afraid so.



Tam dich:
Phillips: Ban c6 phién néu t6i dung xe cua ban

t6i nay khong?

A. C6, ctr str dung di! (Néu ding Yes nghia 1a minh phién)

B. Co, t6i rat thich! (Néu ding Yes nghia 1a mi
C. T6i khong mudn lam.

D. Téi e l1a vay.

— Chon dap an C

Cau 19-22: Dialogue arrangement: Choose A, B, C or D to make a complete dialogue for each

question.
19.

a. How far is it from here?

nh phién)

b. Sure! Go straight down this road, and take the second left.

c. Its about a five-minute walk. You'll see it on
d. Can you help me find the nearest pharmacy?
A.acdb
C.dcab

B.
D.

your right.

abdec
dbac

DICH BALI:
Can you help me find the nearest pharmacy?

Sure! Go straight down this road, and take
the second left.

How far is it from here?

It’s about a five-minute walk. You'll see it
on your right.

Ban c6 thé chi gitp toi nha thudc gan nhat
khong?

Chac chan r6i! Pi thang xudng con duong
nay va ré trai ¢ nga ré thir hai.

Tu day té1 do bao xa?

Khoéang 5 phat di bo. Ban sé& thdy nha thudc
bén tay phai.

— Chon dap an D

20.

a. Is it usually quiet there?

b. Do you know where I can find a quiet place to study?

c. The library has a study room on the third floor.

d. Yes, it’s pretty peaceful.Just make sure to get there early to grab a spot.

A.b-d-a-c

B.b—-c—-a—-d




C.a—-d-b-c

D.a-c—-b-d

DICH BAI:

Do you know where I can find a quiet place
to study?

The library has a study room on the third
floor.

Is it usually quiet there?

Yes, it’s pretty peaceful. Just make sure to
get there early to grab a spot.

Ban c6 biét chd nao yén tinh dé hoc khong?
Thu vién c6 mot phong hoc & tng ba.
O 6 ¢6 yén tinh khong?

C6, kha yén tinh. Hiy dén sém dé iy chd.

— Chon dip 4n B

21.

a. That sounds interesting! I’ve never tried it before. What do I need to get started?

b. I’'m really into painting. It’s a great way to unwind and be creative.

c. Just some basic tools, seeds, and a bit of patience. Its really rewarding.

d. Ive been thinking about picking up a new hobby. Any suggestions?

e. [ll look into it. What about you? Whats your favorite hobby?

f. How about gardening? Its relaxing and you can grow your own plants.

A.debfac
C.dacebf

B.dfebac
D.dfaceb

DICH BAI:

I’ve been thinking about picking up a new
hobby. Any suggestions?

How about gardening? It’s relaxing and you
can grow your own plants.

That sounds interesting! I’ve never tried it
before. What do I need to get started?

Just some basic tools, seeds, and a bit of
patience. It’s really rewarding.

Minh dang nghi dén viéc tim mot s& thich
mdi. Ban c6 goi y gi khong?

Lam vuon thi sao? N6 rat thu gidn va ban c6
thé tu trong cay.

Nghe tha vi QQ}{! Minh chua thir bao gio.
Minh can gi dé bat dau?

Chi can mot vai dung cu co ban, hat giéng,
va mdt chut kién nhan. That sy rat dang lam
day.




I’'ll look into it. What about you? What’s
your favorite hobby?

I’m really into painting. It’s a great way to
unwind and be creative.

Minh s€ thir xem. Con ban thi sao? S& thich
cua ban la gi?

Minh rat thich v& tranh. D¢ 14 cach tuyét voi
dé thu gian va sang tao.

— Chon dap an D

22,

a. Small actions like using public transport, reducing energy consumption, and supporting green

initiatives can make a difference.

b. I’ve been reading about the impact of air pollution lately. It sounds pretty serious.

c. Absolutely! Trees absorb pollutants and improve air quality, so planting them is very

beneficial.

d. What can we do to help reduce it?

e. That makes sense. Ive also heard that planting more trees helps.

f. Yes, its a major issue. Poor air quality can lead to health problems and environmental damage.

Abfdaec
C.bcfdae

B.dabfec
D.bfecda

DICH BALI:

I’ve been reading about the impact of air
pollution lately. It sounds pretty serious.

Yes, it’s a major issue. Poor air quality can
lead to health problems and environmental
damage.

What can we do to help reduce it?

Small actions like using public transport,
reducing  energy  consumption, and
supporting green initiatives can make a
difference.

That makes sense. Ive also heard that
planting more trees helps.

Absolutely! Trees absorb pollutants and
improve air quality, so planting them is very

Gan day minh c6 doc ve tdc dong cua 6
nhiém khong khi. Nghe c6 vé rat nghiém
trong.

Pung viy, d6 1a van dé 16n. Chat lugng
khong khi kém c6 thé dan dén céc van dé
suc khoe va gay hai cho moi truong.

Chung ta c6 thé lam gi dé giup giam thiéu
nod?

Nhitng hanh dong nho nhu st dung phuong
tién cong cong, giam ti€u thu nang lugng, va
ung ho cac sang kién xanh cé thé tao ra su
khéc biét.

Nghe hop ly day. Minh ciing nghe ndi ring
trong thém cay xanh cling gitp ich.




beneficial. Dung vay! Cay hap thy cac chat 6 nhiém va
cai thién chat lugng khong khi, nén viéc
trong cay rat co loi.

— Chon didp 4n A

Cau 23-26: Sentence rewriting: Choose A, B, C or D that has the CLOSEST meaning to the
given sentence in each question.

23. The road was so slippery that no vehicle could drive on it.

A. It was such a slippery road that any vehicle could drive on it.

B. The road was too slippery for no vehicle to drive on it.

C. No vehicle could drive on the road that was slippery enough.

D. It was so slippery a road that no vehicle could drive on it.

Tam dich: Con dudng qué tron dén mirc khong xe nao c6 thé di qua.

A. Con duong qua tron dén noi bat ky chiéc xe nao cung co thé di qua.

B. Con duong qua tron dé khong co6 chiéc xee nao co thé di qua. (Sai vi cau tric too ... to da
mang nghia phu dinh, dung ‘no” s& sai nghia cho vdi cau goc)

C. Khong chiéc xe nao co6 thé di qua con duong ma du tron.

D. Con dudng qua tron téi ndi khong chiée xe nao co thé di qua.
— Chon dap an D

24. Project-based learning is definitely more beneficial than rote learning.
A. Rote learning is probably less beneficial than project-based learning.
B. Rote learning is likely not as beneficial as project-based learning.

C. Rote learning is certainly as beneficial as project-based learning.

D. Rote learning is absolutely less beneficial than project-based learning.
Tam dich: Hoc ‘Eheo du 4n chic chin c6 loi hon hoc vet.

A. Hoc vet ¢6 thé kém lgi hon so voi hpc theo du an.

B. Hoc vet ¢6 ’khé qéng khéng c6 loi bang hoc theo du an.

C. Hoc vet chac chan ¢o lgi bang hoc theo du an.

D. Hoc vet chic chén it 1gi hon so v&i hoc theo du 4n.
— Chon dap an D

25. Immediately after the keynote speaker finished her inspiring speech, the audience gave her a

round of applause.



A. Scarcely had the keynote speaker finished her encouraging speech when the audience erupted
in applause.

B. No sooner had the keynote speaker concluded her speech than the audience applauded her for
her encouragement.

C. The audience praised the keynote speaker for her encouraging speech long before she
concluded it.

D. During her encouraging speech, the keynote speaker received rounds of applause from the
audience.

Tam dich: Ngay sau khi dién gia chinh két thiic bai phat biéu truyén cam htng, khan gia da v
tay khen ngoi 6. ’ i i N
A. Dién gia chinh vira mai két thuc bai phat bi€u truyén cam hing ciia minh thi khéan gia da vo
tay vang doi. . ’ i N

B. Ngay sau khi dién gia chinh két thuc bai phat biéu cua minh, khan gia da vo tay khen ngoi c6
ay vi sy khich 1€ cua co ay. (Sai nghia) i

C. Khan gia da khen ngoi dién gia chinh vi bai phat biéu truyén cam himg cua c6 ay tur rat lau
trude khi b ay ket thuc. (Sai nghia)

D. Trong sudt bai phat bi€u truyén cam hing ctia minh, dién gia chinh da nhan dugc trang phao
tay tur khan gid. (Sai nghia)

— Chon dap an A

26. The teacher's encouraging words gave the students a boost of confidence.

A. The teacher's encouraging words greatly motivate the students.

B. The students felt a surge of confidence from the teacher's encouragement.

C. The students appreciated the teacher's kind words of encouragement.

D. What the teacher said was very encouraging to the students.

Tam dich: Nhiing 10i dong vién ciia gido vién da tiép thém sy tu tin cho hoc sinh.

A. Nhiing 161 dong vién cua gido vién da tao dong luc rat 16n cho hoc sinh. (Sai thi, phai dung thi
qua khtr don)

B. Hoc sinh cam thay ty tin hon rat nhi€u sau 101 dong vién cua giao vién.

C. Hoc sinh danh gia cao nhirng 101 dong vién tur té clia giao vién. (Sai nghia so véi cau gbc)

D. Nhitng gi gido vién noi da khich 1¢ cac em rat nhiéu. (Chua du nghia so véi cau gdc)
— Chon dap an B

Cau 27-30: Sentence combination: Choose A, B, C or D that has the CLOSEST meaning to the
given pair of sentences in each question.

27. The wind is picking up. A storm is approaching.



A. As the wind is intensifying, a storm might be on its way.
B. When the wind increases, the storm could become severe.
C. A storm is definitely coming when the wind gets stronger.

D. Maybe a storm is coming though the wind is getting stronger.

Tam dich: Gi6 dang ni 1én. Mot con bio dang dén gan.

A. Vi gi6 dang manh Ién, m{t con bao cod thé dang trén duong dén.
B. Khi gi6 manh 1én, con bdo cé thé trd nén dir doi.

C. Mot con bio chic chin dang dén khi gié manh hon.

D. C6 thé mot con bio dang dén mic du gioé dang manh hon.

— Chon dap an A

28. I can either take a taxi or walk to the event. I prefer the former option.
A. I prefer walking to the event to taking a taxi.

B. I’ve decided to take a taxi instead of walking to the event.

C. I’d rather take a taxi than walk to the event.

D. I am wavering between taking a taxi or walking to the event.

Tam dich: Téi c6 thé di taxi hodc di bo dén su kién. Téi thich lya chon dau tién hon.
A. Téi thich di bo dén su kién hon 1a di taxi.

B. Tbi quyét dinh di taxi thay vi di bo dén sy kién. (Sai nghia, khong dung decide)
C. Téi thich di taxi hon 1a di bo dén sy kién.

D. T6i dang phan van giira viéc di taxi hay di b dén su kién.

— Chon dap an C

29. He lived in extreme poverty. It hindered his ability to pursue higher education.

A. He could have pursued higher education when he had lived in luxury.

B. It was obvious that a high standard of living could enable him to pursue higher education.
C. If it hadnt been for extreme poverty, he could pursue higher education.

D. It was extreme poverty that hampered him from pursuing higher education.

Tam dich: Anh 4y sdng trong canh nghéo kho cing cuc. Diéu d6 da can tré kha ning theo dudi
gido duc bac cao cta anh ay.

A. Anh 4y c6 thé theo dubi gido duc dai hoc khi anh 4y sdng trong xa hoa. (Sai vi khi dung when
thi cau khong co nghia diéu kién. Néu thay when thanh if thi ding)

B. RS rang 1a murc sdng cao co thé gitip anh 4y theo dudi gido duc dai hoc. (Sai nghia)

C. Sai vi phai dung cau diéu kién loai 3, trai v6i qua khu.

D. Chinh canh nghéo déi cing cuc di can trd anh theo dudi gido duc dai hoc. (Pung véi ciu trac
cau che: It is/was + focus + that ....)

— Chon dap an D



30. He was offered a promotion at work. This came after years of dedication and hard work.

A. His dedication and hard work over the years eventually led to a promotion at work.

B. After many years of hard work, he was promoted at his new job.

C. He was promoted to a senior position, which was the result of years of commitment and
effort.

D. Years of hard work and dedication were attributed to his getting a promotion at work.

Tam dich: Anh 4y duoc dé nghi thiang chirc tai noi 1am viéc. Diéu nay dén sau nhiéu nim cbng
hién va lam viéc cham chi.

A. Sy tan tuy va lam viéc cham chi cua anh ay trong nhi€éu nam cudi cung da dan dén mot sy
thang tién trong cong vigc.

B. Sau nhiéu nam lam viéc cham chi, anh ay da duoc thang chure tai cong viéc mdi ciia minh.
(Sai vi thura ‘new’)

C. Anh ay di duoc thing chure 1én mot vi tri cap cao, d6 1 két qua cta nhiéu nim cam két va nd
lyc. (Sai nghia so v6i cau gbc — senior position khong dé cap & cau g6¢)

D. Nhiéu nam 1am viéc cham chi va tan tuy duogc cho 1a do anh a ay dugc thang chuc tai cong vige.

(Sai vi nguoc nghia - viéc anh 4y duoc thang chirc 1a do nhiéu nim cham chi lam viéc thi diing)
— Chon dap an A

Cau 31-35: Cloze text: Read the passage below and choose A, B, C or D to fill in each blank
from 31 to 35.

One of the most important learning skills you can help your child to develop is to become an
independent learner. Children who are more independent learners tend to (31) and have
a greater sense that they are in control of their learning. Encouraging independent learning can
(32) from a young age, but it can be hard for parents who are not trained teachers to
know when they are giving too much help and when they are not giving enough. If you regularly
help your child with their homework, there are a few simple steps you can take to help your child

become a more independent learner.

1. Help your child to answer the first question or two in an activity then allow them to
do the next ones by themselves. (33) , but if they are struggling it may help

them to point out how you would find the answer.



2. Negotiate a time limit on how long they think it will take them to finish the (34)

of the activity to help them stay focused on their work.

3. If your child is used to you being with them when they complete their homework,

gradually move away from them over a period of time.

Most importantly, be firm. If your child wont try to work independently or is fussing over

something that they can do quite easily when you are there, let them know (35)

by themselves but you wont help them unless they really need it. It can be hard to say no, but it is

worth it to see them become more confident and self-assured as learners and people.

(Adapted from https://www.britishcouncil.vn/)

Giai thich:

DICH BALI:

One of the most important learning skills
you can help your child to develop is to
become an independent learner. Children
who are more independent learners tend to
have more self-confidence and have a
greater sense that they are in control of their
learning. Encouraging independent learning
can happen from a young age, but it can be
hard for parents who are not trained teachers
to know when they are giving too much help
and when they are not giving enough. If you
regularly help your child with their
homework, there are a few simple steps you
can take to help your child become a more
independent learner.

1. Help your child to answer the first
question or two in an activity then allow
them to do the next ones by themselves.
Encourage them to get the answer
themselves, but if they are struggling it may
help them to point out how you would find
the answer.

2. Negotiate a time limit on how long

Mot trong nhimng ky nang hoc tdp quan
trong nhit ma ban c6 thé gitip con phat trién
la tré thanh mdt nguoi hoc ty 1ap. Tré em
khi tr¢ thanh nhiimg nguoi hoc ty 1ap thuong
c6 nhiéu sy tu tin hon va cam thiy rang
ching c6 quyén kiém soat viéc hoc cua
minh. Khuyén khich hoc tap doc lap co thé
bt dau tir khi con nho, nhung cé thé khé
cho cac bac phu huynh khong dugc dao tao
chuyén mon dé biét khi nao ho dang gitip
qua nhiéu va khi nao ho giup khong du. Néu
ban thuong xuyén gitp con lam bai tap ve
nha, c6 mot s6 budc don gian ma ban cé thé
lam dé gitp con trd thanh nguoi hoe doc lap
hon.

1. Hay gitp con tra 161 mdt hodc hai cau
hoi dau tién trong mgt hoat dong, sau do dé
chang ty lam nhimg cdu tiép theo.
Hay khuyén khich ching ty tim cau tra 10i,
nhung néu chung gip kho khin, ban co thé
chi ra cach ma ban s€ tim ra cau tra 1oi.

2. Thoa thudn vé giGi han thoi gian con

to do it



https://www.britishcouncil.vn/

they think it will take them to finish the rest
of the activity to help them stay focused on
their work.

3. If your child is used to you being with

them when they complete their homework,
gradually move away from them over a
period of time.
Most importantly, be firm. If your child
won’t try to work independently or is
fussing over something that they can do
quite easily when you are there, let them
know that you have confidence in their
ability to do it by themselves but you wont
help them unless they really need it. It can
be hard to say no, but it is worth it to see
them become more confident and self-
assured as learners and people.

nghi rang s& mat bao 1au dé hoan thanh phan
con lai cua hoat dong dé giup ching tap
trung vao cong vi¢c ciia minh.

3. Néu con ban da quen voi viéc ban ¢
bén canh khi 1am bai tap, hiy dan dan roi xa
chung trong mot khoang thoi gian.

Quan trong nhét, hay kién dinh. Néu con
ban khong cd géng lam viéc tu lap hodc
dang lam am 1én vé diéu gi d6 ma chung c6
thé 1am d& dang khi c6 ban, hiy dé chung
biét ring ban tin twéong vao kha ning cua
chung dé tu 1am nhung ban s& khong giup
trr khi thuc sy can thiét. Viéc noéi "khéng"
c¢6 thé khé, nhung diéu dé xung dang khi
thiy chang trd nén tu tin va tu chu hon
trong viéc hoc va trong cudc sdng.

31.
A. become more self-confidently

C. have more self-confidence

B. act more self-confident

D. grow more self-confidence

A. Sai vi can dung tinh tir sau dong tir lién két ‘become’.
B. Sai vi can dung trang tir sau dong tur thuong ‘act’.

C. Pung vi sau have ta c6 thé dung danh tu.

D. Sau vi ta can tinh tir sau dong tir lién két ‘grow’

Tam dich: Children who are more independent learners tend to have more self-confidence and
have a greater sense that they are in control of their learning. (Tré em khi tro thanh nhiing nguoi
hoc tu 1ap thuong cé nhiéu su tu tin hon va cam thay rang chiing c6 quyén kiém soat viéc hoc
cua minh.)

— Chon dap an C

32.

A. emerge B. derive C. exist D. happen

Kién thirc tir vung:

emerge (v): xuét hién, ndi 1én

B. derive (v): bt ngudn

C. exist (v): ton tai

D. happen (v): xay ra, dién ra

Tam dich: Encouraging independent learning can happen from a young age, but it can be hard
for parents who are not trained teachers to know when they are giving too much help and when
they are not giving enough. (Khuyén khich hoc tap doc lap c6 thé bat dau tir khi con nho, nhung
¢6 thé kho cho cac bac phu huynh khong duge dio tao chuyén mén dé biét khi nao ho dang giup
qua nhiéu va khi nao ho khong gitp du.)

— Chon dap an D



33.

A. Encourage them to get the answer themselves
B. Encouraging them to get the answer themselves
C. To encourage them to get the answer themselves

D. Encouraged them to get the answer themselves

Xét vé nghia, c6 the thy day 1a mot cdu mang tinh ménh Iénh, néu ding to V dé chi muc dich s&
khong phu hop vé nghia. Tuong tu, néu xét rit gon 2 ménh dé co cung chu ngit cling khong hop
1y vi viéc khuyén khich con 13 ciia cha me, con vé con lai chu ngit 1a “they” — ttc 14 ding dé chi
bon tré.

Tam dich: Encourage them to get the answer themselves, but if they are struggling it may help
them to point out how you would find the answer. (Hay khuyén khich ching tir tim cau tra 10i,
nhung néu chiing gap khé khin, ban co thé chi ra cich ma ban s& tim ra cau tra 10i.)

— Chon dap an A

34.
A. leftovers B. rest C. balance D. remains

Kién thirc tir vung:

A. leftovers (n): do thira, thirc an thira

B. rest (n): phan con lai

C. balance (n): s6 du

D. remains (n): nhitng thr con sot lai

Tam dich: Negotiate a time limit on how long they think it will take them to finish the rest of the
activity to help them stay focused on their work. (Théa thuan vé giéi han thoi gian con nghi rang
s& mat bao 1au dé hoan thanh phan con lai cta hoat dong dé gitip ching tap trung vao cong viéc
cua minh.)

— Chon dap an B

3S.
A. what you have confidence in their ability B. that they have confidence in their ability
C. their ability to become more confident D. that you have confidence in their ability

A. Dung ménh dé danh tir v&i ‘what’ khong phui hop vé nghia trong cau nay.

B. rang chung tin tuong vao kha nang cua ching (Chwa phu hop vé nghia)

C. kha nang cua chung dé tro nén ty tin (Chua phii hop vé nghia)

D. ring ban tin tudng vao kha ning cua chung

Tam dich: If your child won’t try to work independently or is fussing over something that they
can do quite easily when you are there, let them know that you have confidence in their ability to
do it by themselves but you won’t help them unless they really need it. (Neu con ban khong co
gang lam viéc tu 1ap hodc - dang lam am Ién vé diéu gi d6 ma chung co thé 1am dé dang khi c6
ban, hiy cho chung biét rang ban tin twong vao kha ning cua chiung dé ty lam nhung ban s&



khong gitip trir khi thyc sy can thiét.)
— Chon dap an D

Cau 36-40: Reading comprehension 1: Read the passage below and choose A, B, C or D to

answer each question from 36 to 40.

Teenagers' mathematics and reading skills are in an unprecedented decline across dozens of
countries and COVID school closures are only partly to be blamed, the OECD said on Tuesday
in its latest survey of global learning standards. The Paris-based Organisation for Economic
Cooperation and Development said it had seen some of the steepest drops in performance since
2000 when it began its usually triennial tests of 15-year-olds reading, maths and science skills.
Nearly 700,000 youths took the two-hour test last year in the OECD's 38 mostly developed
country members and 44 non-members for the latest study, closely watched by policymakers as
the largest international comparison of education performance. Compared to when the tests were
last conducted in 2018, reading performance fell by 10 points on average in OECD countries,
and by 15 points in mathematics, a loss equivalent to three-quarters of a year's worth of learning.
While more than half of the 81 countries surveyed saw declines, Germany, Iceland, the
Netherlands, Norway and Poland saw particularly sharp drops in mathematics scores, the OECD
said. On average across the OECD, one out of four 15-year-olds tested as a low performer in
maths, reading and science, which means they could not use basic algorithms or interpret simple
texts, the study found. "There are underlying structural factors and they are much more likely to
be permanent features of our education systems that policymakers should really take seriously."
Countries that provided extra teacher support during COVID school closures scored better and
results were generally better in places where easy teacher access for special help was high.
Poorer results tended to be associated with higher rates of mobile phone use for leisure and
where schools reported teacher shortages. The OECD said the decline was not inevitable,
pointing to Singapore, where students scored the highest in maths, reading and science, with
results that suggested they were on average three to five years ahead of their OECD peers.

After Singapore, Macau, Taiwan, Hong Kong, Japan and South Korea also outperformed in
maths and science, where Estonia and Canada also scored well. In reading, Ireland, Japan, South
Korea and Taiwan earned top marks, and was all the more notable in Ireland and Japan because

their spending per student was no higher than the OECD average.



(Adapted from https://www.reuters.com/)

Giai thich:

DICH BALI:

Teenagers' mathematics and reading
skills are in an unprecedented decline across
dozens of countries and COVID school
closures are only partly to be blamed, the
OECD said on Tuesday in its latest survey
of global learning standards. The Paris-
based  Organisation  for = Economic
Cooperation and Development said it had
seen some of the steepest drops in
performance since 2000 when it began its
usually triennial tests of 15-year-olds
reading, maths and science skills.

K¥ ning toan hoc va doc hiéu ciia thanh
thiéu nién dang suy giam chua timg c6 &
hang chuc qubc gia, va viéc dong cira
truong hoc do COVID chi 14 mdt phan
nguyén nhan, OECD cho biét vao thir Ba
trong cudc khao sat moi nhit vé tiéu chuin
hoc tap toan cau. T chirc Hop tac va Phat
trién Kinh té (OECD) ¢6 tru so tai Paris cho
biét ho da chung kién mot sb su sut giam
manh nhat trong hi¢u suat ké tir nam 2000
khi ho bit dau thuc hién cic bai kiem tra
thuong dién ra ba nim mot lan vé k¥ ning
doc, toan va khoa hoc cua hoc sinh 15 tudi.

Nearly 700,000 youths took the two-hour
test last year in the OECD's 38 mostly
developed country members and 44 non-
members for the latest study, closely
watched by policymakers as the largest
international comparison of education
performance. Compared to when the tests
were last conducted in 2018, reading
performance fell by 10 points on average in
OECD countries, and by 15 points in
mathematics, a loss equivalent to three-
quarters of a year's worth of learning.

Gan 700.000 thanh thiéu nién di tham
gia ky thi hai gid' vao nim ngoai ¢ 38 qubc
gia thanh vién chu yéu 1a cac nude phat trién
ctia OECD va 44 quéc gia khong phai thanh
vién cho nghién ctru méi nhét, dugc cac nha
hoach dinh chinh sach theo doi sat sao nhu
mot cudc so sanh quéc té 16n nhat vé& hiéu
suit gido dyc. So véi lan kiém tra gin nhat
vao nam 2018, két qua doc giam trung binh
10 diém & cac qudc gia OECD va 15 diém &
mon toan, twong duong voi mat di ba phan
tu nam hoc tap.

While more than half of the 81 countries
surveyed saw declines, Germany, Iceland,
the Netherlands, Norway and Poland saw
particularly sharp drops in mathematics
scores, the OECD said. On average across
the OECD, one out of four 15-year-olds
tested as a low performer in maths, reading
and science, which means they could not
use basic algorithms or interpret simple
texts, the study found. "There are underlying
structural factors and they are much more
likely to be permanent features of our
education systems that policymakers should

Trong khi hon mét nira trong s6 81 qudc
gia duoc khao sat thay su syt giam, thi Puc,
Iceland, Ha Lan, Na Uy va Ba Lan ching
kién su sut giam dic biét manh trong diém
s6 toan hoc, OECD cho biét. Trung binh
trong toan bd OECD, c&t boén hoc sinh 15
tudi thi c6 mot em bj Xép vao nhom hoc sinh
kém vé toan, doc va khoa hoc, nghia 13 cac
em khong thé st dung cac thuat toan co ban
hodc dién giai cac vin ban don gian, theo
nghién ctru. "Co nhiing yéu té cau tric co
ban va chung c6 nhiéu kha ning trd thanh
nhitng dic diém cd dinh trong hé thong gido



https://www.reuters.com/

really take seriously."

duc cua chung ta ma cac nha hoach dinh
chinh sach can thuc sy quan tam."

Countries that provided extra teacher
support during COVID school closures
scored better and results were generally
better in places where easy teacher access
for special help was high. Poorer results
tended to be associated with higher rates of
mobile phone use for leisure and where
schools reported teacher shortages. The
OECD said the decline was not inevitable,
pointing to Singapore, where students
scored the highest in maths, reading and
science, with results that suggested they
were on average three to five years ahead of
their OECD peers.

Nhitng qudc gia cung cap su hd tro gido
vién thém trong thoi gian dong ctra truong
hoc do COVID dat diém s6 tot hon va két
qua ndi chung t6t hon ¢ nhitng noi co sy
tiép can gido vién dé dang cho su giup d6
dic biét & muc cao. Két qud kém hon
thudng co lién quan dén ty 1é sir dung dién
thoai di dong cao hon cho muc dich giai tri
va nhitng noi cac trudng bao cdo thiéu gido
vién. OECD cho biét su suy giam nay khong
phai 13 diéu khong thé tranh khoi, ddn ching
Singapore, noi hoc sinh dat diém cao nhét
trong cac moén toan, doc va khoa hoc, voi
két qua cho thay trung binh cac em di trudc
tir ba dén nim ndm so voi cac ban cing
trang ltra cia OECD.

After Singapore, Macau, Taiwan, Hong
Kong, Japan and South Korea also
outperformed in maths and science, where
Estonia and Canada also scored well. In
reading, Ireland, Japan, South Korea and
Taiwan earned top marks, and was all the
more notable in Ireland and Japan because
their spending per student was no higher
than the OECD average.

Sau Singapore, Macau, Pai Loan, Hong
Kong, Nhat Ban va Han Qudc ciing vuot
troi trong toan va khoa hoc, trong khi
Estonia va Canada ciing dat diém cao. O
mon doc, Ireland, Nhat Ban, Han Quoc va
Pai Loan dat diém cao nhat, va dic biét
dang cht y ¢ Ireland va Nhat Ban vi chi tiéu
trén moi hoc sinh & hai nudc nay khong cao
hon murc trung binh ctia OECD.

36. What is the main idea of paragraph 1?

A. Surprising findings about students’ academic performance in developed countries

B. A sharp decline in teenagers’ mathematics and reading skills in many countries

C. The OECD’s efforts to promote continuous learning amidst the Covid-19 pandemic

D. Illiteracy rates across the world reaching a record high due to COVID school closures

Y chinh cuia doan 1 1a gi?

A. Nhitng phat hién bat ngo vé hiéu suat hoc tap ciia hoc sinh & cac nudc phat trién
B. Su suy giam dang ké trong k¥ niang toan va doc hiéu cua thanh thiéu nién ¢ nhiéu quéc gia
C. No lyc ctia OECD trong viéc thuc day hoc tap lién tuc gitra dai dich Covid-19
D. Ty 1& mu chif trén toan thé gidi dat mic cao ky luc do viée dong cira trudng hoc vi COVID




Tém tit:

Poan 1 chi yéu ndi vé su suy giam dang ké trong k¥ ning toan va doc hiéu cua thanh thiéu nién
¢ nhi€u quoc gia, dac bi¢t 1a do anh hudng cua viéc dong ctra truong hoc vi COVID.

— Chon dap an B

37. According to the passage, what is indicated about the two-hour test last year?
A. It is organised every other year by the OECD.

B. Students from 38 most developed countries took it.

C. It was closely monitored by professional examiners.

D. Its aim was to get insights into students academic performance.

Theo doan vin, diéu gi dugc chi ra vé bai kiém tra hai gio vao nim ngoai?

A. N6 duoc t6 chirc hai nam mét 1an bodi OECD.

B. Hoc sinh tir 38 qudc gia phat trién nhét da tham gia.

C. No dugc giam sat chat ché boi cac giam thi chuyén nghiép.

D. Muyc dich cta bai kiém tra 1a dé co cai nhin sau sic vé hiéu suat hoc tap ctia hoc sinh.

Thong tin:

+ The Paris-based Organisation for Economic Cooperation and Development said it had seen
some of the steepest drops in performance since 2000 when it began its usually triennial

tests of 15-year-olds reading, maths and science skills. (T6 chirc Hop tac va Phat trién Kinh té
(OECD) ¢6 tru sé tai Paris cho biét ho da chirng kién mot sd su sut giam manh nhét trong hi¢u
suat ké tir nam 2000 khi ho bat dau thyc hién cac bai kiém tra thuong dién ra ba nim mot 1an vé
k¥ nang doc, toan va khoa hoc cua hoc sinh 15 tuéi.)

— A sai

+ Nearly 700,000 youths took the two-hour test last year in the OECD's 38 mostly developed
country members and 44 non-members for the latest study, closely watched by policymakers as
the largest international comparison of education performance. (Gan 700.000 thanh thiéu nién da
tham gia ky thi hai gid vao nim ngoai ¢ 38 qudc gia thanh vién cha yéu 13 cac nudc phat trién
ciia OECD va 44 quéc gia khong phai thanh vién cho nghién ctru méi nhit, dugc cac nha hoach
dinh chinh sach theo doi1 sat sao nhu mot cudc so sanh quéc té 16n nhat vé hiéu suit gido duc.)
— B sai vi ‘mostly’ khac ‘most’, C sai vi khong dé cap ti ‘cac giam thi chuyén nghiép’

— D dung

— Chon dap an D

38. The word ‘they’ in paragraph 3 refers to
A. underlying structural factors

B. basic algorithms

C. drops in mathematics scores

D. features of our education systems



Tir “they” & doan 3 dé cap dén

A. Céc yéu t6 ciu triic co ban.

B. Thuat toan co ban.

C. Su sut giam vé diém sb toan hoc.

D. Pic diém cia hé théng gido duc cta chung ta.

Thong tin:

There are underlying structural factors and they are much more likely to be permanent features
of our education systems that policymakers should really take seriously. (Co nhiing yéu t cAu
tric co ban va chiing c¢6 nhiéu kha nang tré thanh nhiing déc diém c6 dinh trong hé thong giao
duc cua chung ta ma cac nha hoach dinh chinh sach can thuc sy quan tam.)

— Chon dap an A

39. The author mentions Singapore in paragraph 4 in order to

A. imply that Singapore's students are always more intelligent than their peers

B. highlight its efforts to maintain high educational performance despite Covid-19
C. indicate that poorer results due to COVID school closures were understandable

D. emphasise that Singapores education system is the most advanced in the world

Tac gia nhic dén Singapore & doan 4 dé

A. ngu y rang hoc sinh Singapore luon thong minh hon cic ban clng trang lira

B. 1am nbi bat nd luc duy tri hiéu suit gido duc cao mic du c6 Covid-19 & qudc gia nay

C. chi ra rang két qua kém hon do déng ctra trudong hoc vi COVID 1a diéu c6 thé hiéu dugc

D. nhn manh rang hé thdng gido duc ctia Singapore 14 tién tién nhat thé gidi

Thong tin: The OECD said the decline was not inevitable, pointing to Singapore, where
students scored the highest in maths, reading and science, with results that suggested they were
on average three to five years ahead of their OECD peers. (OECD cho biét su suy giam nay
khong phai 1a diéu khong thé tranh khoi, chi ra Singapore, noi hoc sinh dat diém cao nhit trong
cac mon toan, doc va khoa hoc, véi két qua cho thay trung binh cac em di trude tir ba dén nam
nam so voi cac ban cung trang ltra cua OECD.)

— Chon dap an B

40. Which of the following would the author most likely support?

A. Students from Asian countries are more competent than their Western counterparts.
B. Ireland and Japan do not put an emphasis on investing in educational development.
C. Maths and science are subjects that young learners often pay more attention to.

D. Other factors other than spending may play a significant role in student success.
Tac gia c6 kha nang s€ ung hg y kién nao sau day?

A. Hoc sinh tir cac qudc gia chau A gioi hon so v6i cac ban ¢ phuong Tay.

B. Ireland va Nhat Ban khong chu trong dau tu vao phat trién gido duc.
C. Toén va khoa hoc 1a nhitng mon hoc ma hoc sinh tré thuong chti y hon.



D. Nhiing yéu t6 khac ngoai chi tiéu c6 thé dong vai trd quan trong trong thanh cong clia hoc
sinh.

Thong tin:

+ A sai vi khong c¢6 ¥ ndo trong bai khang dinh hoc sinh Chau A gi6i hon hoc sinh phwong Tay,
mic du & cudi bai chii yéu dé cap tdi cac nude chau A co két qua lam bai thi tét.

+ ... and was all the more notable in Ireland and Japan because their spending per student was no
higher than the OECD average. (va dac bi¢t ddng cht1 y ¢ Ireland va Nhat Ban vi chi tiéu trén
mdi hoc sinh & hai nudc nay khong cao hon muc trung binh cia OECD.)

— B sai vi khong phai Ireland va Nhat khong chu trong dau tu vao phat trién gido duc, ma mic
du chi tiéu trén mdi hoc sinh & 2 nude ndy thap hon mire trung binh cia OECD ma hoc sinh van
gidi.

+ C khong c6 ¥ nao tir trong bai dé suy luan ra.

+ In reading, Ireland, Japan, South Korea and Taiwan earned top marks, and was all the

more notable in Ireland and Japan because their spendlng per student was no hlgher than
the OECD average.(O mon doc, Ireland, Nhat Ban, Han Quoc va Pai Loan dat diém cao nhét,
va dac biét dang chu y ¢ Ireland va Nhat Ban vi chi ti€u trén mo1 hoc sinh ¢ hai nudc nay khong
cao hon murc trung binh cia OECD.) — D ding vi diéu nay c nghia rang khong phai cir chi tiéu
trén mdi hoc sinh cao 1a diém sb s& cao, ma s& c6 nhimng yéu td khéc nira.

— Chon dap an D

Cau 41-45: Reading comprehension 2: Read the passage below and choose A, B, C or D to

answer each question from 41 to 45.

A new challenge to vehicle production is on the horizon and, again, it comes from automation.
However, this time it is not to do with the manufacturing process, but with the vehicles
themselves.

Research projects on vehicle automation are not new. But since Google announced in 2010 that it
had been trialling self-driving cars on the streets of California, progress in this field has

rapidly gathered pace.

There are many reasons why technology is advancing so fast. One frequently cited motive is
safety. Research has demonstrated that more than 90 per cent of road collisions involved human
error as a contributory factor, and it is the primary cause in the vast majority. Automation may
help to reduce the incidence of human error. Another aim is to free the time people spend driving
for other purposes. If the vehicle can do some or all of the driving, it may be possible to be
productive, to socialise or simply to relax while automation systems have responsibility for safe
control of the vehicle.

Beyond these direct benefits, we can consider the wider implications for transport and society,



and how manufacturing processes might need to respond as a result. At present, the average car
spends more than 90 per cent of its life parked. Automation means that car-sharing schemes
become much more viable, particularly in urban areas with significant travel demand.

However, there are a number of hurdles to overcome in delivering automated vehicles to our
roads. These include the technical difficulties in ensuring that the vehicle works reliably in the
infinite range of traffic, weather and road situations it might encounter; the regulatory challenges
in understanding how liability and enforcement might change when drivers are no longer

essential for vehicle operation; and the societal changes that may be required for communities to

trust and accept automated vehicles as being a valuable part of the mobility landscape.

(Adapted from https://www.newstatesman.com/)

DICH BAI:

A new challenge to vehicle production is
on the horizon and, again, it comes from
automation. However, this time it is not to
do with the manufacturing process, but with
the vehicles themselves.

Mot thach thire méi ddi voi san xuét xe
dang hién ra trudc mét, va mot 1an nira, nd
dén tr ty dong hoéa. Tuy nhién, 1in nay
khong lién quan dén qua trinh san xuit, ma
lién quan dén chinh cac phuong tién.

Research projects on vehicle automation
are not new. But since Google announced in
2010 that it had been trialling self-driving
cars on the streets of California, progress in
this field has rapidly gathered pace.

Céac dy an nghién ctu vé tu dong hoa
phuong tién khong phai 1a méi. Nhung ké tir
khi Google cong bd vao nam 2010 rang ho
d3 thir nghiém xe tu 14i trén cac dudng phd
California, tién bo trong linh vuc nay da
nhanh chong ting tdc.

There are many reasons why technology is
advancing so fast. One frequently cited
motive is safety. Research has demonstrated
that more than 90 per cent of road collisions
involved human error as a contributory
factor, and it is the primary cause in the vast
majority. Automation may help to reduce
the incidence of human error. Another aim
is to free the time people spend driving for
other purposes. If the vehicle can do some
or all of the driving, it may be possible to be
productive, to socialise or simply to relax
while automation systems have
responsibility for safe control of the vehicle.

C6 nhiéu 1y do khién cong nghé tién bod
nhanh chong nhu vay. Mot dong luc thuong
dugc nhic dén 1a an toan. Nghién ctru da chi
ra rang hon 90% cac vu va cham giao thong
c6 lién quan dén 18i cua con ngudi nhu 13
mdt yéu td gbp phan, va dy 1a nguyén nhan
chinh trong phan 1én cac truong hop. Tu
dong hoa co thé giup giam thiéu su ¢ do 15i
con nguoi gay ra. Muc tiéu khac la giai
phong thoi gian ma con nguodi danh cho vige
lai xe dé lam cac cong viéc khac. Néu
phuong tién c6 thé 1ai mot phan hodc hoan
toan, co thé sir dung thoi gian d6 dé lam
viéc hi€u qua, giao luu xa hoi, hoac don
gian 13 thu gidn trong khi hé thong ty dong



https://www.newstatesman.com/

chiu trach nhiém di€¢u khién xe an toan.

Beyond these direct benefits, we can
consider the wider implications for transport
and society, and how manufacturing
processes might need to respond as a result.
At present, the average car spends more than
90 per cent of its life parked. Automation
means that car-sharing schemes become
much more viable, particularly in urban
areas with significant travel demand.

Ngoai nhitng loi ich truc tiép nay, ching
ta c6 thé xem xét nhiing tic dong rong hon
dén giao thong va xi hoi, va cach ma cac
quy trinh san xuét c6 thé can diéu chinh dé
dap tng. Hién nay, mot chiéc 6 to trung
binh danh hon 90% cudc doi ctia n6 dau tai
chd. Tu dong hda co nghia 1a cac chuong
trinh chia sé xe trd nén kha thi hon nhiéu,
dic biét 13 & cac khu vuc d6 thi ¢ nhu ciu
di lai cao.

However, there are a number of hurdles to
overcome in delivering automated vehicles
to our roads. These include the technical
difficulties in ensuring that the vehicle
works reliably in the infinite range of traffic,

weather and road situations it might
encounter; the regulatory challenges in
understanding how liability and

enforcement might change when drivers are
no longer essential for vehicle operation;
and the societal changes that may be
required for communities to trust and accept
automated vehicles as being a valuable part
of the mobility landscape.

Tuy nhién, c6 mot $O trd ngai can vuot
qua dé dua cac phuong tién tu dong vao
duong phd. Bao gdm cac khé khan ky thuat
trong viéc dam bao rang phuong tién hoat
dong dang tin cdy trong pham vi v6 tan cua
tinh huéng giao thong, thoi tiét va duong xa
ma nd co thé gip phai; cac thach thirc vé
quy dinh trong viéc hiéu cach thay d6i trach
nhiém va thyc thi khi nguoi lai xe khong
con 13 yéu t6 thiét yéu cho viéc van hanh xe;
va nhitng thay d6i xa hoi c6 thé can thiét dé
cac cong dong tin tudng va chap nhan céac
phuong tién tu dong nhu mot phan gia tri
cua canh quan di dong.

41. The word ‘it’ in paragraph 1 refers to
A. vehicle production

B. automation

C. new challenge

D. manufacturing process

Tu “it” & doan 1 dé cap dén

A. san xuat xe

B. tu dong hoa

C. thach thuec méi
D. quy trinh san xuat

Thong tin: A new challenge to vehicle production is on the horizon and, again, it comes from
automation. (M4t thach thirc mai doi voi san xuat xe dang hi¢én ra trude mat, va mot lan nira, nd

dén tir ty dong hoa.)
— Chon dap an C




42. The phrase ‘gathered pace’ in paragraph 2 mostly means

A. recovered its process

B. started to rise again

C. became faster

D. dominated the market

Tir “gathered pace” trong doan 1 gan nghia nghia véi
A. khoi phuc qua trinh

B. bat dau tang tro lai

C. tr¢ nén nhanh hon

D. thong linh thi truong

Kién thire tir vung:

gathered pace: tang toc, phat trién nhanh chong = became faster
— Chon dap an C

43. What is the main idea of paragraph 3?

A. Benefits of driverless cars in reducing car accidents

B. Advantages of automated technology in designing cars
C. Selling points of automation technology in driving

D. Outstanding features of new models of driverless cars
Y chinh ctia doan 3 1a gi?

A. Lot ich cua xe ty lai trong viéc giam tai nan giao thong.
B. Uu diém cua cong nghé tu dong hoa trong thiét ké xe.
C. Piém manh ctia cong nghé ty dong hoa trong 1ai xe.

D. Cac dac diém noi bat ciia mau xe tu lai moi.

Tom tat:

DPoan 3 tap trung vao cac lgi ich cia xe ty dong, nhu an toan hon hay gidi phong thoi gian 1ai xe

cho con nguoi.
— Chon dap an C

44. Which of the following best paraphrases this sentence: “Automation means that car-sharing
schemes become much more viable, particularly in urban areas with significant travel demand.”?
A. Automation helps to turn the idea of car-pooling into reality, alleviating travel demand in the
urban landscape.

B. Automation makes car-sharing programmes much more practical, especially in cities with

high travel needs.



C. The concept of car-sharing in urban areas where travel demand is extremely high has become
much more feasible thanks to automation.
D. The feasibility of car-pooling in crowded cities where daily commutes are the norm is

unquestionable with the help of automation.

Cau nao dudi day dién dat lai tdt nhat cau: “Tu dong hoa c6 nghia 1a cac chuong trinh chia sé xe
tré nén kha thi hon, dic biét 1a & cac khu vuc dé thi c6 nhu cau di lai cao.”?

A. Ty dong hoa gitp bién ¥ tudng di chung xe thanh hién thuc, giam nhe nhu cau di lai trong
canh quan d0 thi. (Chua sat nghia vi khong c6 y ‘giam nhe nhu cau di lai” trong cau g6c)

B. Ty dong hoa lam cho cac chuong trinh di chung xe tré nén thyc té hon nhiéu, dic biét & cac
thanh phd ¢6 nhu cau di lai cao.

C.Y tudng di chung xe ¢ cac khu vyc d6 thi c6 nhu cau di lai cuc ky cao da tré nén kha thi hon
nhiéu nho tu dong hoa. (Chua ding vi ‘khu vuce do thi ¢6 nhu cau di lai cao’ chi l1a mot phén dac
biét trong ¥ tudng di chung xe. Khi viét lai theo nhu y C, thi nghia 1a ciu gbc dang tip trung vao
viéc di chung xe ¢ cac khu vye d6 thi c6 nhu clu di lai cao)

D. Tinh kha thi cua viéc di chung xe trong cac thanh phd déng dtc, noi di lai hang ngay 1a chuan
muec, 1a diéu khong thé ban cii voi su tro giup cua ty dong hoa.

— Chon dap an B

45. Which of the following can be inferred from the passage?

A. There is still an air of uncertainty about the safety and reliability of automated vehicles among
the public.

B. Before officially launching automated vehicles to the roads, it is of considerable importance to
raise public awareness.

C. The obstacles to delivering automated vehicles to the roads will be surmounted soon thanks to
groundbreaking advances in technology.

D. Driverless cars which are currently trialled on the roads haven’t met safety regulations.

C6 thé suy ra tir doan van rang

A. Van con chua chic chin vé an toan va do tin cdy cua cac phuong tién tu dong trong cong
dong.

B. Trudc khi chinh thirc dua phuong tién tu dong 1én dudng, viéc nang cao nhan thirc cong dong
1a rat quan trong.

C. Cac tré ngai dé dua phuong ti¢n ty dong ra duong s€ soém duogc khéc phuc nho céc tién bo dot
phé trong cong nghé.

D. Xe tu lai dang duoc thir nghiém trén dudng chua dap img dugc cac quy dinh vé an toan.
Thong tin:

However, there are a number of hurdles to overcome in delivering automated vehicles to our
roads. These include the technical difficulties in ensuring that the vehicle works reliably in the
infinite range of traffic, weather and road situations it might encounter; the regulatory challenges
in understanding how liability and enforcement might change when drivers are no longer



essential for vehicle operation; and the societal changes that may be required for communities to
trust and accept automated vehicles as being a valuable part of the mobility landscape. (Tuy
nhién, c6 mot sd trd ngai can vuot qua dé dua cac phuong tién tu dong vao duong phé. Bao gom
cac kho khan k¥ thuat trong viéc dam bao rang phuong tién hoat dong dang tin cdy trong pham
vi v0 tén cua tinh hudng giao thong, thoi tiét va duong xa ma no6 co thé gip phai; cac thach thic
Ve quy dinh trong viéc hiéu cach thay doi trach nhiém va thuc thi khi nguoi lai xe khong con la
yéu t6 thiét yéu cho viéc vén hanh xe; va nhing thay d6i x4 hdi c6 thé can thiét dé cac cong dong
tin twdng va chap nhan cac phuong tién tu dong nhu mot phan gia trj ciia canh quan di dong.)

— Chon dap an A

Cau 46-50: Logical thinking and problem solving: Choose A, B C or D to answer each
question.

46. You are at a family gathering where many relatives are playing a board game that you don’t
know how to play. You are somewhat reserved and unfamiliar with most of the relatives.
However, you would like to join the game. What can you say to participate?

(A) Can someone explain how this board game works?

(B) The board game looks really interesting, but I don't know the rules.

(C) Id like to join the board game, could someone teach me how to play?

(D) This gathering is very enjoyable, and the board game seems fun.

Ban dang & budi hop mit gia dinh, noi nhiéu ngudi than dang choi mét trd choi ma ban khong
biét cach choi. Ban c6 chut dé dit va khong quen hau hét nguoi than ¢ do. Tuy nhién, ban mudn
tham gia vao tro choi. Ban c6 thé noi gi dé tham gia?

A. Co ai co the giai thich cho em cach tro choi nay hoat dong dugc khong?

B. Tro choi nay trong rat tha vi, nhung em khong biét luat choi.

C. Em muon tham gia vao tro choi nay, c6 ai c¢6 thé day em céch choi khong?

D. Bubi hop mit nay rat vui va tro choi trong c6 vé tha vi.
— Chon dap an C

47. Alex, the team leader, is asking Jamie, a team member, about a project update. What would
be the best response for Jamie in this situation?
Alex: Can you update me on the project status by the end of the day?

Jamie:

(A) Sure thing! I'll send you the update on it later today.
(B) No problem. I'll need more details to complete the report.
(C) That’s fine. Can you remind me of the deadline again?

(D) I wasn’t expecting this. The project update is due next week.



Alex, truong nhom, dang hoi Jamie, mQt thanh vién trong nhom, vé cap nhat du an. Cach tra 101
t6t nhat cho Jamie trong tinh hudng nay 1a gi?

Alex: C6 c6 thé cap nhat cho t6i vé tinh hinh dy 4n vao cudi ngay khong?

Jamie:

A. Chic chan r6i! T6i s& giri cho anh cap nhat vé du 4n vao cudi ngay hom nay.

B. Khong van dé gi. Téi can thém chi tiét dé hoan thanh bao céo.

C. buoc théi. Anh c6 thé nhic lai thoi han cho toi khong?

D. T6i khong ngd t6i diéu nay. Cap nhat du 4n dy kién vao tudn sau.

— Chon dap an A

48. Following are statements about a book. Which statement can be a fact?

(A) The book is the most thrilling read of the year.

(B) The book is considered the author's finest work.

(C) The book is difficult to put down.

(D) The book received the National Book Award in 2022.

Dudi qay la cac cau phat biéu vé mdt cudn sach. Cau nao co thé 1a mot sy that?
A. Cudn sach nay la cuon ly ky nhat cua nam.

B. Cudn sach dugc coi la tac pham xuat sac nhat cua tac gia.

C. Cuon sach doc cudn ghé luon.

D. Cubn sach dd nhan duoc Giai thuong Sach Quéce gia vao nim 2022.
— Chon dap an D

49. You’ve noticed that whenever you use the microwave in your kitchen, the internet
connection in your house becomes unstable. What is the likely cause?

(A) The microwave and the internet connection are both experiencing technical issues.
(B) There is a problem with the internet service provider.

(C) The microwave is causing interference with the Wi-Fi signal.

(D) The internet connection needs to be upgraded.

Ban nhan thiy rang bét ¢ khi ndo ban sir dung 10 vi song trong bép, két ndi internet trong nha
tr6 nén khong 6n dinh. Nguyén nhan c6 thé 1a gi?

A. Calo visong va két ndi internet déu gip van dé k¥ thuat.

B. C6 véan dé véi nha cung cap dich vu internet.

C. Lo vi song dang gay nhiéu tin hiéu Wi-Fi.

D. Két ndi internet can dugc nang cap
— Chon dap an C

50. Which of the following situations best exemplifies being “made redundant”?



(A) Emily is given a performance review that indicates she needs to improve her skills but is not
immediately affected.

(B) Emily's department is eliminated as part of a company restructuring, and she is informed that
her position is no longer needed.

(C) Emily is offered a different role in the company after her current job is deemed less essential.

(D) Emily decides to leave her job voluntarily to pursue another career opportunity.

Tinh huéng nao dudi day thé hién rd nhat viéc bi “made redundant”?

A. Emily dugc danh gia hiéu suat cho thay c6 can cai thién k¥ ning nhung khong bi anh hudng
ngay lap tuc.

B. B6 phan cta Emily bi loai boé nhu mot phan cua tai ciu tric cong ty, va cd duoc thong bao
rang vi tri ctia ¢6 khong con can nira.

C. Emily dugc dé nghi mot vai tro khac trong cong ty sau khi cong viéc hién tai ctia c¢6 bi coi 1a
it can thiét hon.

D. Emily quyét dinh rdi bo cong viée ty nguyén dé theo dudi co hdi nghé nghiép khac.‘be made
redundant’ nghia la sa thai ai vi khong con viéc cho ho lam nira, thuong do khing hoang dan t6i
thiéu viéc 1am hodc tai cau tric cong ty. Do vay, B dién dat tot nhat y cia cum nay.

— Chon dap 4n B



